H & 0l & AHS B Ml A

20258 =0ila eI D=t

SN JEHAY
Hu: HAEE

Cel: HIIE HMel EER=E)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
JI=EE 11,282,899 7,733,175 3,549,724
= 6,676,315
[ 10,030
= 2,044,868
Al 2,551,686
Haze| 901,793 1,592,350 690,557
== 900
Al 900,893
HOIE Hel 901,793 1,592,350 690,557
= 900
Al 900,893
SSetaa 2 884,144 1,578,821 ABR4,677
101 @124H| 42,942 48,961 26,019
04 JIZtNZ2 2N sSE+ 42,942 48,961 26,019
O=&3dd Ald RAldel 2FY 36,146
-JlZ2s 80,2403 x1H 250! 20,060
-HE S| 200,000& *22 400
=58 80,2403 1 »52& 4,173
-REI2esg
10, 156& *BAI 2H+1H+67 2 % 150% 6,125
s 2,000 182502 500
-S| 50,000 * 122 600
-—HEAZE MY
126,070 x 1 x 122 1,513
-Ex= 33,289,000/ 12& 2,775
OJIZNZ2Z A 4AHEE JI2RE =3 3,741
-=0=3 33,289,000 4. 5% 1,499
-AY2E 33,289,000 *3.545% 1,181
-HIIRYEH 1,161,9002%12.95% 151
“CHHEE 33,289,000%0.982% 327
-UEEE 33,289,000%1.75% 583
OdEH=U=d SSatdd A ARy 3,095
“HENSUEN SSHEY 4 Y 3,095
2= 88,0002 x8H x4 2,816
ATHEEOIZRES)
2,816,000 *1.004% 2
LEEBFEOIZRES)
2,816,000& *1.75% 50
Z2hAlt| 5,0003+8E 4L 160
201 er2 3| 181,010 180,647 363
01 AtR2t2|HI 85,010 85,847 AB37
Oogegt+=EHI 82,513
-SESEA AL AR (=5, 8| S)
-& 21,0003 »67 I 2:%62] 8,442




2A:

M A
Cel: HIIE HMel EER=E)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
-SEEA Eae) & etk A
= 153+8,500L+67 4 A+ 13 8,543
-SES3EA A 2E BF 7Y 65,528
LEXNS 10, 7502 +67 4 2+ 122 8,643
ZHASEA ZHSE
83, 160& x5 2 +62] 2,495
L ABOIKEH
7,05024+33H A% 123 2,792
 UBHABETY(RA, 2P S)
16,8002 67 4 2 +43] 4,503
SER(EEE)
39,0003 »67 I A+ 128 31,356
- SN 7,040 +67 I 2+2 S *43] 3,774
- =Hl= 1, 7703 %670 A x43] x 128 5,693
RN ELEH
1,560 +67 I #6501+ 123 6,272
OdeN=sU=d SSade Fx EF +
o 2,497
—AFAE 10,7502 +30H 2+ 13 323
—UBIHABE DA, 2 5)
16,8002 *30JH 2 +13] 504
-SIET(ELE)
39,0003 *30H A+ 13 1,170
= A= 7,040 +30 0 2 %13] 212
-SHlF 1,7703+300H 2 %13] 54
EH 25 2
1,560 «300H A +500 12 234
02 3224l 96,000 94,800 1,200
O8&82= £ HA 96,000
-SSeIA ol AIE=
95,0003 *67 I 2+ 128 76,380
-S3eEd MIIMNEE
1,300,000& « 122 15,600
oAl A S4R3
5,000 674 2+ 123 4,020
202 OH| 1,620 1,620
01 2L AL 1,620 1,620
O==stE4 2el GRFA 22 ol
200, 0002 *32 *332| *50% 900
OBZsiFA YUFA L pAHe EHO
] 20,0003 32 *22| * 122 +50% 720
307 212t01™ 562,347 542,718 19,629
05 elzte(&r = 562,347 542,718 19,629
OZSEHEA HAZAH|(6704)
562,346, 1302 14! 562,347
401 AlEHIZ S 0HbI 96,225 804,875 708,650
01 AlIZHI 96,225 804,875 AT708,650




SN JIBEBD
Zal: HAE

Cel: HIIE HMel EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSS3a4 Hizge| A&
25,000,000& »14] 25,000
OBBSIA hols N
130, 000 *60IH 2= %50% 3,900
OctalatEa x4 67,325
—=EEZY WA £X
270,000 *45CH*50% 6,075
~SHQIAEIAY SX
2,450,000 *507H 2= %50f% 61,250
s EA 2el23dl NA 3,000 2,880 120
== 900
Al 2,100
201 223 3,000 2,880 120
< 900
Al 2,100
01 Al22t2lH] 3,000 2,880 120
SEILIRS=Y[ 3,000
HesEa 2Y2E S 7Y
3,000,000+ 14 3,000
=S 900
Al 2,100
Fo X 2,310 2,310 0
201 2= 750 750
01 At2t2lt] 750 750
Oggt=3=H| 750
EAXY BRaHE
15,0003 500 A 750
301 LEetE2 N = 1,560 1,560
4Bt 2a3 1,560 1,560
THTY 2a4d ol X
130, 0003 *3JH 2+43] 1,560
JHeIGk=H el Ald 2tel 12,339 8,339 4,000
201 el 8,339 8,339 0
01 At22t2lt] 5,105 5,106 0
Odgt=3=H| 5,106
-QEHelAE S LF BAL AES
1,500 *100H 150
SQAHRINE YRS FBAA 242
21,9002 x50 1,095
OIRI0IEERY 534 ANLEE
261,0003 %1004 A 2,610
HBE HAON SHAN M
2503 %5,000& 1,250
02 S3=gHl 3,234 3,234 0
OsE2= & HA 3,234




SN JIBEBD
Zal: HAE

&2 HOIE Mel (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
“HSE HREA HUHE 258 LUEA
fUR= 40031+5,2504 2,100
-H3tE WREA 01018 2IDSK S|
omea 2, 7002+3502H o5
MBI ZEA 001K DEHREX SI| 2
HRs 2,700 70 189
402 QI”F X201 & 4,000 0 4,000
01 QI X2 AL E R (KEMITHE) 4,000 0 4,000
OMHAl BHEal FE| X2 A
4,000,000 * 10 2= 4,000
HEZo 2el 10,210,096 5,853,039 4,357,057
= 6,642,715
[ 10,030
= 2,041,620
Al 1,515,731
qE 2 o 9,203,776 4,269,992 4,933,784
= 6,191,940
= 10,030
S 2,018,580
Al 983,226
SHINERYS 2 81,160 45,120 36,040
101 ©1AH| 34,320 0 34,320
04 JIZtN2Z2 XS E+ 34,320 0 34,320
OZMERES Btd= L OlsSE 2
S g2 el 31,042
= 80, 2403 x 1 »22& 12 21,184
=5+g 80,2403 x 1 »63! 5,056
—2HAH| 2,000« 1H*22x 12 528
-S| 20,0002 x 1 *102+ 122 2,400
L P
122,780 x 18 * 122 1,474
-SE S0l 200,000 *23] 400
OJIZHMIZ2Z2 X AU EE D223 3,278
-=0=3 2,430,540 x1H 12 %4 . 5% 1,313
-AY2E 2,430,540 » 1B« 122 «3. 545% 1,034
“HIIRYEE
85,0702 x 12 » 123 +12.95% 133
“CHHEE 2,430,540« &« 122 +0.982% 287
-UEEE 2,430,540« 1B« 123 x1.75% 511
201 el 46,120 44,400 1,720
01 At22t2lt] 19,020 17,300 1,720
Odgt=3ZH| 19,020
—EFNERE=S XA ME 19,020
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FA IS
3 dEzol 2l
Rl g B R (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAlE &I Xl 1,400
—2S553J| & ZelH #c
400,000 24 800
-ASIEOtA SHEEH 72t 600
- IHA=ED| =2 300,000& *14] 300
L YpsiErs ZEI| 42
300,000 *14] 300
Og=zH| 1,196
—SEANEHEE U A
255. 73 40k 100 1,023
RSIEIA SEZH(LFD]) A2
1,440 +102| E* 122 173
O E] 1,250
—SZANCHEE I FA22 8
25,000,000 *5% 1,250
202 04| 1,200 1,200
01 =LHO LI 1,200 1,200
O g8 Ol
200, 0002 x3& %43 %50% 1,200
301 EtE N = 350 350
14 JIEt 2 a3 350 350
OstZAg 12l S 283 350
-4l 20,0003 %5 100
-0 Hl 20,0003 +5& 100
=%z 30,0003 %5 150
308 AHXIEMSOIH 42,180 42,180
18 SIS0t HAS A 42,180 42,180
O=2dHe HSAAYE 29 42,180
-28le HSEAAY ZLIHEHH 282
cldl 24,940,000 * 14! 24,940
-2 Mg HEAIAE S22
17,240,000 * 14| 17,240
IASEHI BIEItA M2EX 22 X2 AHY 66,000 135,600 269,600
= 66,000
402 212+ X201 & 66,000 135,600 69,600
= 66,000
02 QI XHZ AL E R (01X THE) 66,000 135,600 69,600
OJNAZHI HIEItA MZEX 23 K&
At 66,000,000 * 14! 66,000
= 66,000
OIMIEZA SHUHE MY ZAl AEAIE 20,060 18,576 1,484
[ 10,030
Al 10,030
101 21AH| 19,260 18,000 1,260
[ 9,630




FA IS
3 dEzol 2l
Rl g B R (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 9,630
04 JIZtNZ22 XS 2+ 19,260 18,000 1,260
OQIZh ZAIA Q14| 19,260
-Jl== 80,2403 2 752 12,036
[ 6,018
Al 6,018
-E304H| 20,0003 x2& » 75 3,000
= 1,500
Al 1,500
-S4l 140,0003 x2&+33 840
[ 420
Al 420
-ABIEEE 400,000 x2F 33 2,400
= 1,200
Al 1,200
W= 22,0003 x2& 584
= 292
Al 292
- =4 200,0002 x2&H 400
[ 200
Al 200
201 er23| 800 576 224
= 400
Al 400
01 At2teltl 800 576 224
Odgt+==H| 800
AR E3HI 200,000& 2 400
[ 200
Al 200
-AR2d 22 284l 200,000 =24 400
= 200
Al 200
AXHH 1eEEdS X - 29 169,890 80,320 89,570
= 97,500
< 36,000
Al 36,390
201 er23 | 72,390 80,320 AT7,930
= 36,000
Al 36,390
01 At2teltl 54,000 61,400 AT,400
Odgt+==H| 54,000
-Woledsd4 29
54,000,000 *14! 54,000




FA IS
3 dEzol 2l
Rl g B R (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 36,000
Al 18,000
2 s5=34l 18,390 18,920 A530
O332= € HAl 14,190
-Wolsdsdy diks
200,000 *30H =% 123 7,200
OIS AETY 2
50,000& *3IH 2=*12] 150
-OIAIHA HEE2H SAMEIA 25
503 +2,000& »302] 3,000
-OIAIBIX &8 ALY &) & Stes
40,0002 +8LH* 122 3,840
OAIEEHIKRXIHI 4,200
-OIMEA dsS FXl2el
60,000, 000& *7% 4,200
401 AlEHIZ 01 97,500 0 97,500
= 97,500
01 Al&H| 97,500 0 97,500
OkzHUII=aA £
97,500,000 x 14 97,500
= 97,500
IHEE M=sA 22 ESAY 49,440 30,000 19,440
= 37,440
Al 12,000
402 QI2F X201 & 49,440 30,000 19,440
= 37,440
Al 12,000
02 QI X2 AL E R (01X THE) 49,440 30,000 19,440
OJEE =4 22 E=AY 49,440
EONENE S 49,440,000 *14] 49,440
= 37,440
Al 12,000
Zigd 22 2SAY 5,600 8,000 A2,400
= 1,680
Al 3,920
402 2I”FX+=01 & 5,600 8,000 22,400
= 1,680
Al 3,920
02 QI XHZ AL E R (01X THE) 5,600 8,000 A2,400
Ozlgd2ddd E8AY
800,000 *7CH 5,600
== 1,680
Al 3,920
HIINSK 25 E SHIZL}t 2RAY 3,899,900 1,200,000 2,699,900




2A:
X XH -
o e

=aak

S - BE - B9I(3H) - NRAY - BES

Ofl &F2H

MEE
Ofl &k2h

Mo

=

2,325,000
,224,900
350,000

—

402 2I2FXH=201&

Mo

w

,899,900
2,325,000
,224,900

350,000

—

1,200,000

2,699,900

3,837,500,000& * 14!

i
.
0
>
o
N
h
e
if

1,300,000 48CH

Mo

H

w

,899,900
,899,900

w

w

,837,500
2,325,000
1,162,500
350,000

62,400
62,400

1,200,000

2,699,900

HIISEXH(AE)2S A

Mho

=

1,940,000
1,600,000
240,000
100,000

917,000

1,023,000

4l

402 SI2ERHE01 M

hoH

1,940,000
1,600,000
240,000
100,000

917,000

1,023,000

02 QIEN 2 AL EZ(0IETHR)
OTIIBSIHAE ) ES ALY

-&JIg =Xt 1,940,000, 000 14!

hoH

=

1,940,000
1,940,000
1,940,000
1,600,000
240,000
100,000

917,000

1,023,000

SII0IEX 7l

hoH

=

30,000
16,000
6,000
8,000

16,000

14,000

402 SIZERHE0| M

hoH

30,000
16,000
6,000
8,000

16,000

14,000

24,000,000 x14!

H

30,000
30,000
24,000
16,000

16,000

14,000




SN JlEsZ
M MBI 22
el M3 2 o (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 8,000
~SL A F0F 223
600, 0002+ 10CH 6,000
= 6,000
HIHA 23AY 1,150,000 980,000 170,000
2 700,000
& 210,000
Al 240,000
402 QIERHE0IH 1,150,000 980,000 170,000
2 700,000
= 210,000
Al 240,000
02 RIZHRHE A E E (01X THR!) 1,150,000 980,000 170,000
OFIIHA R
1,150,000, 00024 » 14! 1,150,000
2 700,000
= 210,000
Al 240,000
22T 23 L $ASHL LAY 1,725,000 565,000 1,160,000
2 1,350,000
= 300,000
Al 75,000
402 QIZEXH20I 1,725,000 565,000 1,160,000
2 1,350,000
= 300,000
Al 75,000
02 QIZFXH2 AL E (01 R THE) 1,725,000 565,000 1,160,000
OFAHZHNIR BSALY 1,725,000
~S AR AR 1,725,000,000& *14! 1,725,000
2 1,350,000
= 300,000
Al 75,000
pIEENE 1,006,320 1,583,047 N576,727
2 450,775
= 23,040
Al 532,505
NEtASMAE S4 85,370 146,903 161,533
201 et 51,970 52,210 N240
01 AlR22lt| 49,050 49,050 0
OEIEI=S=1:] 42,150
—2AIA HIEY MEHEAN BS 242
12,000,000 * 14! 12,000
—2AIIA HHEY AN BB 222
13,000, 0002 %1 4! 13,000




2A: Jl=eZ
mu: MEas) 22l
Rl JISFHIUS EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
IS E AU o= 2 3,000
282 2003 *5,0000H*50% 500
R ES 50, 0002 *100H 2 *50% 2,500
-ESASEICIEH =8 2,525
282 2002 %10,0000H*50% 1,000
H40H(A) - ST ME, OHFEST|
50,0002 #5070 A *13] ¥50% 1,250
B0
110, 0003 *5I0 2 *13]*50% 275
-ZI|HIX XJAIE RO
15,0002 *1,550CH*50% 11,625
ogxz 5,500
-0IMISX M&2E /st &2 ==Xt Axt
550,000 x2CH* 102 x50% 5,500
osgsg 1,400
2050 BIABE M HPIAS] BASY
70,0002 * 10X *43] *50% 1,400
02 32| 2,920 3,160 A240
O240tA HHEdH AE AH3ld|
550,000&*13] 550
O3s22 ¥ HA 1,150
A NSIHAE XY 282
1,000,000 *1CH 1,000
A NSIHAE XHE) NHSIHA
150, 0002 1CH 150
OXrze | 1,220
S ANSTHAE XIHEE) =L
60,000& * 12& 720
SATETHBE [E) SNV
500,000 *1CH 500
202 04d| 2,400 2,400
01 =LHO4 b 2,400 2,400
ONEASMLE 2tH 22|0H|
200, 0003 x4 EH +63] *50% 2,400
207 A IHLH| 31,000 31,000
01 HEGH| 31,000 31,000
O=24ItA HHEE MEHEA &Y 89
13,000,000 14! 13,000
O24aItA HHEE BAA &d Y
18,000,000 & * 14! 18,000
IR HEItA H2ZALS 481,300 933,34 A452,094
= 240,650
& 16,640
Al 224,010
402 CI2ER=0IH 481,300 933,3%4 A452,094
= 240,650




FA IS
3 ol 2l
el JISEHUS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 16,640
Al 224,010
02 QI X2 AL EE(0IETHE) 481,300 933,3% A452,094
OLZZKRX ZIIHX KA 332,800
Ss2 R 240,000,000 * 14 240,000
= 120,000
& 12,000
Al 108,000
4S5 R 55,500,000& x 14 55,500
= 27,750
< 2,775
Al 24,975
-AEIH 37,300,000& x 14 37,300
= 18,650
< 1,865
Al 16,785
OOPF(HS MZEXI) 2= XIR ALY
33,000,000 * 14 33,000
= 16,500
Al 16,500
OAEINA ATWH XA
115,500,000 * 14! 115,500
= 57,750
Al 57,750
B3I12 WEX 457X 2l 5,250 2,250 3,000
= 2,625
Al 2,625
402 2IZtA=01d 5,250 2,250 3,000
= 2,625
Al 2,625
02 RIENSASEZ(0IETHR) 5,250 2,250 3,000
OE3J12t ZUEX 45574l 2l
150,000 *35CH 5,250
= 2,625
Al 2,625
0120l SextE2l LPGRF Mak X2 A 9,000 30,000 221,000
= 4,500
Al 4,500
402 2IZtA=01d 9,000 30,000 A21,000
= 4,500
Al 4,500
02 BIENEASEZ(0IETHR) 9,000 30,000 221,000
OO01el0l SSHAtESl LPGIF & X3 A
3,000,000 «3CH 9,000




FA IS
mu: MEas) 22l
Rl JISFHIUS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 4,500
Al 4,500
EALQIEN I+ CIMEIEXIS 142,500 198,000 255,500
= 95,000
Al 47,500
301 EtE NS 142,500 198,000 /55,500
= 95,000
Al 47,500
14 0Bt 2as 142,500 198,000 55,500
OBASHEQIERM JtIt+ QHEIE Xs
142,500,000 * 14! 142,500
= 95,000
Al 47,500
st BAZQIEN QHEIE Xs 16,000 12,000 4,000
= 8,000
Al 8,000
301 eEtE N = 16,000 12,000 4,000
= 8,000
Al 8,000
4IE2d=S 16,000 12,000 4,000
OXSA BASEEUEN HEIE Xs
16,000,000 * 14! 16,000
= 8,000
Al 8,000
dtdr BASEHEQIEN 2 4,000 0 4,000
= 4,000
301 22N = 4,000 0 4,000
[ 4,000
14 DBt 2 a3 4,000 0 4,000
Odctdr BASEHEAEN =Y
4,000,000 * 14 4,000
== 4,000
BASEEQIEN AN QMEIE K& 2,400 0 2,400
S 2,400
301 LEIE NS 2,400 0 2,400
= 2,400
14 JIEt2a3 2,400 0 2,400
OBAZTEHEQERM AL IHEIE X
el 2,400,000 *14] 2,400
< 2,400
HIAHRE AIEE 2a0tA A ALE 14,000 14,000
307 @120l & 14,000 14,000
02 QB AANEE R 14,000 14,000




S JlEEA
S MEZoH 22
| sHsiie
K- BB S(3) - MSAY - BaS A
OBAZE ME ME2SAY
14,000,000& * 14 14,000
ESAsE XNJHEH 29 NF 200,000 200,000
= 100,000
Al 100,000
402 SIZEXHE01 A& 200,000 200,000
= 100,000
Al 100,000
03 QIR EFAIHI 200,000 200,000
OEtAZsE KNJMEH 29 X
200,000,000 14! 200,000
= 100,000
Al 100,000
A 0IMSHX AR2e|HEH NESS 46,500 46,500
308 AXIHHSOIA 46,500 46,500
07 XSRS S 46,500 46,500
=SHEA DIMSA HF2e|HH 29
46,500,000« 14! 46,500
NHEtd 25 91,308 195,376
= 33,600
= 2,348
Al 55,360
e BA 91,308 195,376
= 33,600
c 2,348
Al 55,360
NA 883 EX X3 23,220 115,150
201 LBt AY| 2,520 2,520
01 AFR2telt| 2,520 2,520
Ogbt4=-2Y| 2,520
-SEBN AHEC =22 HE
B600& *5,0000H*50% 1,500
-S4 N ZHQO SHIIE HE
50,000 *100H *50% 250
-SHY RS 3| 4£E
70,0003 *11H *23| *50% 770
202 04| 1,400 1,400
01 2L Y| 1,400 1,400
O=tg 2t& 3|2 & MIOILE &4l 22/ 04|
200, 000! x2H *33| x50% 600
OXHAS B M AR 22|
200, 000 x2H *4.3| x50% 800
307 2I12+0| & 9,300 101,230
04 CIZISHAIAIH E X 9,300 7,500




e RIEL
M gEd 25
o9l 23 24 EER-E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ONiEd BEES(HA2SSEAECIS])
2,500,000 *14] 2,500
O30 HeESLUSI(SE&I HY
AL 2,000,000 %14 2,000
OdHnets &KXl & |oixs 22 &s(
SIS ELESEE)
3,300,000& *14] 3,300
OSZANSBH}2sNEZLSRL2S
=25 22X 3l) 1,500,000 %14 1,500
401 AIEHIX R0 10,000 10,000
01 A28l 10,000 10,000
OUBOIUHMAAX =Al2
10,000,000& * 14! 10,000
Or4S =Moo AMH 20,088 32,226 A12,138
[ 2,348
Al 17,740
201 er23 | 3,825 4,235 A410
= 360
Al 3,465
01 At2teltl 2,385 2,385 0
OOtds=2 HZX& MH
350, 0002 *3IH*50f% 525
OOt s S (IS, %EHX) EIXIH &
25,0003 x 12074 +50% 1,500
OOt Se|AIAE X
72,0003 +5% 360
= 72
Al 288
02 S3=gl 1,440 1,850 A410
ORiiodsE 22t 285 K&
288,000& +5& 1,440
== 288
Al 1,182
301 LEIE NS 16,263 15,991 272
= 1,988
Al 14,275
14 IIEt2 83 16,263 15,991 272
OOt =E TISH0IEZ At 9,890
-OMSE 250/ 2H(SEZEE 2l
2s) 4,890,000 * 14 4,890
s 978
Al 3,912
-AEE OFYSUHAl L2E 23|
5,000,000 14 5,000
ORIdS=E s&= S L2
5,833,000& *14] 5,833




SN =B8RI
M gEd 25
o9l 23 24 EER-E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 875
Al 4,958
OSHoES T2 AT TR
540,000 *14] 540
= 135
Al 405
otM ot A I E 2tALY 48,000 48,000 0
= 33,600
Al 14,400
101 @124H| 24,741 26,207 A1,466
= 17,319
Al 7,422
M OIRIMZZ2NSE S 24,741 26,207 1,466
OotEBt XD = HEY Q12| 22,383
SJIENIZ22 X o1
1,865,220 x3H x4 3 22,383
= 15,668
Al 6,715
OJIZNZ2Z2 X U EE JI2RE 2 2,358
-=2H3 1,745,220 4«3 *43 x4 . 5% 943
= 660
Al 283
-AY L 1,745,220 «3H x4 2 +3.545% 743
= 520
Al 223
AR H
60,1803 x3Z *4E 12.95% %A
= 66
Al 28
—SEE 1,745,220 4«3 =4 x1.004% 21
= 148
Al 63
-UEEE 1,745,220 x3B x4 1.75% 367
= 257
Al 110
201 Ler23| 7,059 6,393 666
= 4,941
Al 2,118
01 AtR2t2lHI 7,059 6,393 666
O=HES & & =HEH X 7,059
-S=HNES 78 729,500 <22 1,459
= 1,021
Al 438
-=HEH Xt 1,400,000 «4CH 5,600




e RIEL
M gEd 25
o9l 23 24 EER-E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 3,920
Al 1,680
401 AIZHIZ SO 16,200 15,400 800
= 11,340
Al 4,860
01 Al=2H| 16,200 15,400 800
OHPIE A= Xel 360,000 x45& 16,200
= 11,340
Al 4,860
HY2EIHI(OIZE3 ) 79,702 92,410 12,708
Jl2dul(OIz&an) 79,702 92,410 A12,708
Jl2dul(OIz&dn) 79,702 92,410 A12,708
201 fer23| 36,022 39,130 A3,108
01 AtR2t2|HI 34,942 38,050 23,108
Odgt+=H| 21,722
J=ZAIRE 3 100,000 *17H *50% 850
J2EAEE 7Y 150,000& *14] 150
“SADI =8 & 72
500, 0003 #2CH*22] *50% 1,000
-SA0 EH 7Y
150,000 »2CH*62] 1,800
-SSP EE 7Y
330, 0003 *2CH 62/ *50% 1,980
-dIOId T2l &Y +#Y
237,000 x2CH*43] 1,8%
“SAEA P
23,0002 x202t A 123 «50% 2,760
-Se13Hl 292 100,000« 12& 1,200
-0 AER 22,0003 =20 =122 528
Ml AlER 16,5003 104~ 123 198
“HA Y 2EES 20K 9,360
- ZA et E Y =l 7Y
22,0003 200162/ *50% 1,320
A A HIU gz
60,000 44+ 122 *50% 1,440
A SIEAE SEA 7Y
55,0002 x 102 A 122 «50% 3,300
A SHEAE HEEE P2Y
55,0003 102 A* 122 x50% 3,300
O=gHl 13,220
23U =0 HE S20HAY
9,000& 17 +82| « 122 *90% 13,220
02 S3=gHl 1,080 1,080 0
OsE2= & HA 1,080
-RUS Al 60,0002 * 122 720
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REH: &
o e

el

& - (3AH) - MRAY - BES

Ofl &F2H

MEE
Ofl &k2h

30,000& x 128

360

40,800

50,400

A9,600

20,0003 x17H*102/~ 122

40,800

40,800

50,400

29,600

2,880

2,880

300, 000& » 122 »80%

2,880
2,880

2,880




